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paper.
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1. (a) “Wealth %&mization is a better criterion than
profit @%mization “Do you agree? Explain. (8)

S
(b) Explain the Time Value of Money Concept. What
~are the ‘factors affecting the Time Value of

Money? (7

OR

(a) “Financial Management has expanded in its scope
during last few decades”. Examine the modern
approach to the scope of financial management.

8)
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(b) The cost of the plant is ¥10 Lacs. It has an
estimated life of 5 Years after which it would be
disposed off (Scrap Value — Nil). Profit before
Depreciation, Interest, and Taxes (PBIT) is
estimated to be ¥3.50 Lacs p.a. Find out the yearly

cash flow from the plant (given the tax rate @
30%). (7)

2. (a) B Ltd is considering two proposals I and II with
the following details :

Items Year Proposal I | Proposal II
Investment T 19,000 240,000
Cash Inflows | Year l& Z 8,000 % 16,000
| Yedt2 | %8000 216,000
N -
aYear3 29000 724000
@®

You are required to suggest the most attractive
proposal-based on the NPV method considering
that future incomes are discounted at 12%. Also,
find the IRR of the two proposals. (8)

(b) What is meant by capital budgeting decisions?
What are its main features? Why do NPV and

IRR techniques of evaluation of capital budgeting
lead to conflicting project ranking? (7)

B.1T.0.
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OR

(a) A firm whose cost of capital is 10% is CUHSldermg
two mutually exclusive projects A and B,

details of which are as follows :

Items Year | [ProjectA Project |
__-_‘_—_'__-'-—-

Gt 0 250,000 250,000
CashInflows | 1 25,000 225000 |
2 210,000 220000 |

3 215,000 210,000
4 222,500 25000 |
5 230,000 |\ Z5000 |

Compute the Pay B@k Period, Net Present Valuye -
at 10%, Pmﬁta@ﬁty Index, and Internal Rate of
Return for @%rmects Which project you would
recom%@@ out.of the two and why? (15)

3. (a) A Firm sellsits pfoduct at 10 per Unit. Variable
cost Ratio is 70%. Fixed Cost is ¥10,000. Present
sales are 10,000 units. Calculate the following:

(i) Degree of Operating: Leverage.
(i) New EBIT if sales increase by 40%.

(iii) New EBIT if sales fall by 25%. t)
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(b) X Ltd. and Y Ltd. are in the same risk class and
are identical in all respects except that company
X Ltd uses debt while company Y Ltd doesn’t use
debt. The levered firm, X Ltd. has 9,00,000
Debentures carrying a 10% rate of interest. Both
the firms earn 20% operating profit on total assets
of X15 lakhs. The equity capitalization rate (ke) is
15%. You are required to calculate the value of
firms X Ltd and Y Ltd using the Net Income (NI)
Approach. Also, calculate the overall cost of
capital (ko) of both the firms X Ltd and Y Ltd.

(7

OR

(a) Manoj Traders 'I‘,\{@as the following capital
Structure : &6 ‘

(b, ;
Equity Sharés (2,00,000) 40,00,000
Q :
10% Preference Shares 10,00,000
10% Debentures 30,00,000
80,00,000

The share of company currently sells at ¥25. It is
expected that the company will pay a dividend of

X2 per share which will grow at 7% forever.
Assume a 30% tax rate. You are required to

compute a weighted average cost of capital on
existing capital structure. (8)

PTG,
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(b) “The cost of debt is generally lower than the cogt
of equity.” Explain. Also, explain various methods
for calculating the cost of debt. (7)

4. (a) The details of XYZ Ltd are as under:

Production of the Year: 60,000 units
Finished Goods Inventory: 3 Months
Raw Material Inventory: 2 Months Consumption
Production Process ;1 Month
Credit allowed by Creditors: 2 Months
Credit allowed tq\\ﬁtors: 3 ‘Months
Sélling Pric@&??unit <.50 per unit
N\
Raw Mairial: 50% of the selling price.
Direct Wages: 10% of the selling price.

Overheads: 20% of the selling price.

There is regular production on the sales cycle,
and wages and overheads accrue evenly. Wages
are paid in the next month of accrual. Material is
used at the beginning of the production cycle.
Work-in-process involves the use of the full unit

of raw materials at the beginning of the
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.manufacturing process and other conversion costs
equivalent to 50%. You are required to find out
the working capital of XYZ Limited. (8)

(b) Explain the major determinants of the working
capital needs of a business firm. (7)

OR
(a) The following data is of Frahk Ltd.:

Existing Capital Structure: 10 1akh Equity Shares
of Y10 each, Tax Rate is' 50%.

Frank Ltd plans to raise additional capital of 100
lakhs for financing an@xpansion project. It is
evaluating two alter%{(&e plans:
Sk
(1) Issue o (ZtOO,OOO equity shares of 10

each @d

‘(ii) Issu¢ of T100 lakh debentures carrying a
14% interest rate. You are required to
calculate the indifference level of EBIT.

(8)

(b) The management of A Ltd is considering changing
its present credit policy the details of options are

given below :

P.T.0.
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[ Credit Policy | Present | POLICY I  poLicY I rom
Sales ~Ter00000| 21,1200 | 2120000 | 2124000
\fanable iable Costasa | ;0% 80% 80% ‘;;H
i % of Sales -
FixedCost | 212,000 | 212000 | 2000 | 12000 |
A I T —
verage 60 d
Collection Period, | 3098 | 497" i
E—

The firm’s rate of Investment is 20%. Assuming
360 days in a year Advise which option i best,

(7)

3. (a) The following are the details regarding A Ltd, B
Ltd and C Ltd:

S
AL, >|  BLW C Ltd
r=3% r=5% R=10%
K= 10% Ke=10% Ke = 10%
E=38 E=%8 E=2%8

Calculate the value of an equity share of each of
these companies by applying Walter’s formula
when the dividend payout ratio is (a) 25%
(b) 50% (c) 75%. What conclusions would you
draw? 8)
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(b) Explaj
W"hplam the Gordon’s model of dividends.
at are g assumptions? Does the value of the

f‘ .
ITM 18 affected by the dividend policy as per this
model? (7)

OR

Write shdrt notes on any three of the following :
(i) ABC analysis of inventory management.

(i) EBIT-EPS Analysis.

(i) EOQ Model

(iv) Difference between Operating and Financial

Leverage.
®
(v) Cash Budgetg<\Q | (15)
| S
\Q‘Zr
&Q
N}

l I' (%) “am Ffwaamm it o A 8 ARHTHET TH
I AFES 87 TN AT GEAG 37 WL BRI

(8)

(@) 9@ F FEURT B T [ W AE RO T R
W A IR T N w1 an 87

(7)

FAdl
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2. (%) B Ltd. Fafeies fan & @0 & weal 1 3R 11

W R = @ 2 Q
K&Q
N
"\<)v
e & wael |(yEE
NN
EEC RN | 219,000 | 340,000

CECIRCICEL S 28,000 216,000
g 2 %8,000 %16,000
7 3 %9,000 324,000

e T R @ 3R W T srdE W
qAE o 2, % @ gU B wRw s 12% W
YT A WA B TEH FOW, A T B IEAHAR
A\ wifod (8)
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e ﬁ““ﬂﬂﬂ 2
A 7 | Riwwa | oo
SlES 0 250,000/ 250,000

TR | cl@‘% 5000 | 225000
% | z10,000 220,000
3 315,000 210,000
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5 230,000 5,000
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P.I.0.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

3066 12

3 (%) v vk g IR A 20 9 gfe @t ¥ I
) R wmra I 70% 31 Fif¥ew W 210,000
) adae Rt 10,000 TR A A PefeRas R

maﬂﬁ:‘m:

(i) sfRaemma @™ &1 &

(i) af Rt ¥ 40% & N g AW 2, & T
SRAES F BAW

(iii) aR R ¥ 25% v Fwae = 2, & ==
RAES w0 BNm ¢ (8)

(®) XLtd. 3R Y Ltd. 7% & i@ oh & daaia s
2 ok ek T 3 2, R e R we X
Ltd. WWS@\W%WMYLMW
maﬁw@*aﬂﬁﬁlﬁiﬁewﬁ X Ltd. & &

. ?900@\?&??%’%#«10%3&@1?3(%1%
mirswaﬁmmﬁiwzo%mm
ﬁﬁaaﬂ%ﬂénsﬁaﬁﬁaﬂa{(ﬁ) 15% Bl
IR Y€ I (T3E) gRehir 1 ITRT e

X Ltd. R Y Ltd. ® 67 &t 7061 SN 21 D
e, A WA X Ltd. 3R Y Ltd. 3% Gt ()

& W A R WA B (7)

Jqdr

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

3066 11

(%) A So e ot Prr gt e 2

WA (2,00,000) 40,00,000
10% Sllﬁnﬁr IR 10,00,000
10% R 30,00,000

80,00,000

T W IR A A 125 W R 31 T I
TR T 22 W YW A WA
T D R 7% @ W A @M W @ R 30% AT
WO St Feger ol e R A il i

- A W T e 3 (8)
(@) “?E"ra?rmmﬁ% | & o A T AR
?I”‘ﬂ%m\gﬁ’aﬁmaﬁmﬁﬁﬁq
L T (7)

4 (&) XYZ Ltd, &1 &R Feger 2
af & I 60,000 FHE
ﬂmm@:sﬂﬁ

T AS A g 2 WA RN
S Wi 1 W
AER T I Bl 2 WA

P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

3066 14

IR F ;R N IR 3 WER
R 3w vl Td 50 Wi gRe
Fodl A fah I B 50%
mﬂm@:ﬁaﬁwmm%
AewegE: feh @ #; 20%

R w% W Pufe SarT B 2, @k ARy AN
RAERE W ¥ A IR 8§ Aogh H A
I B e w8 X R W 31 ST W A
TRAE ¥ T T ITAT B e 21 9@ -5 - W
¥ R wfdar A geaE ¥ FE AW A W THE
I AR 50% P TR FT TV @0 A
2 WXYZ@aﬁmﬁaﬁaqﬁwwml

D (8)

S
(@) Pt v W T T T 3
e i g @ e i (7)

Aar
(%) Feafefea o1 % fofes = 2

AR ot T 300 AT B 10 9 IREd [N,
A T/ 50% B

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

3066
15

h%wﬁmﬁqﬁﬁmﬁﬁmﬂﬁm
ﬂuomaﬁ’taﬁfi‘m@ﬂmaﬁmwrﬁﬁ
T A o A A @R

(i)_ %10 9 % 10,00,000 3R FW T TN AR

(i) 14% = = @@ 700 e R¥W T M
EBIT%mﬁwaﬁmﬁﬁm (8)

(®) A Ld. & yaoer oo adaw aRe AR ) aot
R R o w1 2, Ras o faor R Ra wr?

iR gifeedt | 8w giteftl | iRt Hl | qifeci IO
Y 31,00,000 | 21,12,000 [-21.20,000 | Z1,24,000
%3 F=rd <§‘\

PP soz@\ 80% 80% 80%

R T \&&% 212,000 | 212,000 | 212,000
derdwgm ey oD 30Rw | 4shw | 60Rw | 75Rw

W & FEE T 20% B T I ¥ 360 RT AR @
g dRm & F-w e ) s 2

(7)
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